Example (Ex 2b, Class Practice 2.6, Ex 2c)

Ex 2b

24)
(a)
Write down the expansions of
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(b) Given that
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 , Find A, B and C.

(c) Hence find the coefficient of of xn in the expansion of 
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 in a series of ascending powers of x.

Ans:
(a)
(i)
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(ii)
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(iii)
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(b)
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Since 
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(c)
From the result of part (a) & (b), we can conclude that the coefficient of the term xn is
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Class Practice 2.6

1) Write down the first three terms in the expansion of 
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Ans:
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Consider x = 0.02, we have 
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Ex 2c

13)
(a)
Find the first three terms in the expansion of 
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in ascending powers of x.

(b) Given 
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(ii) Let 
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andλbe so small that terms involvingλ3 and higher powers ofλcan be neglected. Using the result in (i) and equating coefficients ofλandλ2 to zero, find an approximate root of E.
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(b)
(i)
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(ii)
From the result of part (i) and set 
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Hence 
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